
CALCULA EL LÍMITE DE LAS SIGUIENTES FUNCIONES 

 

1; y=  = cuando  x -1 
𝑥2−2𝑥−3

𝑥2+3𝑥+2
 → 

 

Lim  =  =  =  
𝑥2 −2𝑥 −3

𝑥2+3𝑥+2

−12−2(−1)−3

−12+3(−1)+2

1+2−3
1−3+2

0
0

x -1 →
 
 
 

 

 

Lim  = lim  =  = -  = -4 
(−3).(𝑥+1)

(𝑥+2).(𝑥+1)
𝑥−3
𝑥+2

−1−3
−1+2

−4
−1

x -1 →
 
 
 

      2; y=     cuando x 1 
𝑥2−3𝑥+2

𝑥2+2𝑥−3
→

         Lim =  =  =  
𝑥2−3𝑥+2
𝑥2+2𝑥−3

1−3(1)+2
1+2(1)−3

0
0

            X 1 →

 

 



 

 

 

 

Lim  = lim   =  =  
(𝑥−2).(𝑥−1)
(𝑥+3).(𝑥−1)

𝑥−2
𝑥+3

1−2
1+3

−1
4

X 1 →

 

3; y =    cuando x  4   𝑥2−𝑥−12

𝑥2+𝑥−20
→

Lim  = =   𝑥2 − 𝑥 − 12

𝑥2 + 𝑥 −20

42−4−12

42+4−20

0
0

x  →4

 

 

 

Lim  = lim  =  =  
(𝑥+3).(−4)

(𝑥+5).(𝑥−4)
𝑥+3
𝑥+5

4+3
4+5

7
9

x                         x  →4 →4

 

 

 

4; y=            cuando  x  
𝑥3+2𝑥2−17𝑥+15

𝑥2−𝑥−6
→3



 Lim  =  
𝑥3+2𝑥2−17𝑥+15

𝑥2−𝑥−6

33+2(3)2−17(3)+15

32−3−6

X  →3

=  =  
27+18−51+15

9−3−6
9
0

 

5; y=    cuando x  
𝑥2+7𝑥+10

𝑥2−𝑥−6
→ − 2

Lim   =  =  =  𝑥2+7𝑥+10

𝑥2−𝑥−6

−22+7(−2)+10

−22+2−6

4+14+10
4+2−6

0
0

x→-2 

 

 

 

 

Lim   = lim  =  = -  
(𝑥+5).(𝑥+2)
(𝑥−3).(𝑥+2)

𝑥+5
𝑥−3

−2+5
−2−3

3
5

 

 

6; y =       cuando  x 2 
𝑥2−3𝑥+2

𝑥2−5𝑥+6
→

Lim  =  =  =   𝑥2−3𝑥+2

𝑥2−5𝑥+6

22−3(2)+2

22−5(2)+6

4−6+2
4−10+6

0
0

x 2 →

            

  

 



(x-1) (x-2)                                (x-3) (x-2) 

Lim  =  =  =  = -1 
(𝑥−1).(𝑥−2)
(𝑥−3).(𝑥−2)

𝑥−1
𝑥−3

2−1
2−3

1
1

x  →2

 

 

7; y=     cuando x  
𝑥2+𝑥−6

𝑥2−4
→2

Lim  =  =  
𝑥2+𝑥−6

𝑥2−4

22+2−6

22−4

0
0

x  →2

 

 

 

 

(X+3) (x-2)                                   (x-2) (x-2) 

Lim  = lim   x + 3 = 2+3 =6  
(𝑥+3).(𝑥−2)
(𝑥−2).(𝑥−2)

x 2                       x ​  → →2

 

 

 

 

 

 

8; y=      cuando x  
𝑥2−𝑥−12

𝑥−4 →4



Lim  =  =  
𝑥2−𝑥−12

𝑥−4
42−4−12

4−4
0
0

 

 

 

 

(x+3) (x+4)             (x) (x-4) 

Lim  =  =  =  
(𝑥+3)(𝑥−4)

(𝑥)(𝑥−4)
𝑥+3

𝑥
4+3

4
7
4

x→2 

 

 

9; y=   cuando x→-2 
𝑥3+2𝑥2−𝑥−2

𝑥3+2𝑥2−9𝑥−18

  ​  𝐿𝑖𝑚 𝑥3+2𝑥2−𝑥−2

𝑥3+2𝑥2−9𝑥−18

 

 

 

 

 

 𝑙𝑖𝑚
𝑥→2

(𝑥+2)(𝑥2−1)

(𝑥+2)(𝑥2−9)
= 𝑥2−1

𝑥2−9
= (−2)2−1

(−2)2−9
= 𝑙𝑖𝑚

𝑥→2
4−1
4−9 = 3

−5

 

10; y =  cunado x→8 
𝑥+1−3
𝑥−8

 𝑦 = 𝑥+1−3
𝑥−8 = 𝑥+1+3

𝑥+1+3



 𝑦 = ( 𝑥+1−3)( 𝑥+1)+3 𝑥+1 −3 𝑥+1−9
𝑥 𝑥+1+3𝑥−8 𝑥+1−24

 

 

 𝑦 = 𝑥−8
𝑥 𝑥+1+3𝑥−8 𝑥+1−24

 

 𝑙𝑖𝑚
𝑥→8

𝑥−8
𝑥 𝑥+1+3𝑥−8 𝑥+1−24

 

 𝑦 = 8−8
8(3)+24−8 (8)−24 = 0

0 = 𝑖𝑛𝑑𝑒𝑡𝑒𝑟𝑚𝑖𝑛𝑎𝑑𝑜

 


